Basics

Fackeyia — §\0 = SAY%B¥2xrl = 120
v&}s o MQA—DLW~L>-.. 2.2
V\l—: V\(_V\—'\‘) \t, = V\[Q/\_DC‘/L—?”)'“E'Z"] = VL(V\—)‘O

Wy, 2122 3056, Yi=2y Sl=120, El=92 Fl= SH0 L 21 = 03220
[} e 'Y
- Novod
ko
a0 o ,00 , 000 Lw
TadAo- ' 09,00 ’ /_/1;60 06O 000 006
W (/ \l \\/ {/ \l/) ‘) \7 L) {/
A4 AV}
ool Cwre or), Pen b ow T &
Modulus |

1 trillion = 10 = 1000000000000
1 billion = 10° = 1000000000 \ 1\ - L, >0
1 million = 10° = 1000000

1 crore = 107 = 100 lakh

10 lakh = 10° = 1 million

_ —2\ = — -2
1 lakh = 10° = 100000 = 100 thousand \el = 6 > \ \ ~ C >
1 thousand = 10° = 1000 = <
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1. 287 x 287 + 269 x 269 — 2 x 287 x 269 = ? %%jr’lé(o = B = 2y
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2. If(64)2 - (36)2 =20 x x, then x = ? <G>\\ _g@)@\(_\_ 3 Q
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(c) 180 {140 — A% \BY *
@ 3. If.f3-1732and \/5_1_414,thevalueofﬁ is

(a) 0064 (b) 0308
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